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(i) 39 J97-9F %1 Giel 977, 3, §, @, ¢ 3N T H FieT T 8 | 379l @4t 9rn &
Jo9] & IR forad & |

(i) @Yt 397 I E |

(i) YT d, &, 7 3K T & J99] 7 SaRke 597 3F1 T 8 |

Gv) YT 37 & Y97 G&I1 1 3K 2 Uh-Uh 3% & Y97 & | 9% FH U o7 JYaT
TH FET H e E |

(v) YT J9T I3 G 5 T1-3 3Pl & J7 & | $9% I TTHT 30 Fea] I
F378 1

(i) YT G & Y97 &1 6 8 15 A7-T7 3761 & T97 & | 5785 I T 50 e
JgH 478 /

(ii) YT T & Y97 &7 16 G 21 GiT-Tia 3] & Y97 & | 599 IR FTYT 70 Jeel
J9b 5 57 8 /

(viii) YT T & J97 G&IT 22 G 27 JINTIHF HI9T T SR 21-31 371 & J97 & |
5% GRT I T 8/

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.
(iit)  Internal choice is given in Sections B, C, D and E.

(iv)  Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viit) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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HET A
SECTION A
1. W o fw fafau | 1
State Ohm’s law.
2. NG §IF H WY S Tl § 3ufeud foheal & diwehi o AW faRaw | 1
Name any two nutrients that the spent slurry has in the biogas plant.
T o
SECTION B

3. Toreht 3T@ TUU % g&F 1@ o FHWAR Ufad fohell ST foRto 1 deged!
qEfdd fertor <1 g eeria o fou amifera fortor @ difsw | 3@ sm@ W
AT IV TR G hivT 3ifehd <hIFIT | 2

Draw a labelled ray diagram to show the path of the reflected ray
corresponding to an incident ray of light parallel to the principal axis of a
convex mirror. Mark the angle of incidence and angle of reflection on it.

4.  Torelt grrardt e aTes & e FIE Frehia g3 Wi 7 | Hefafad seRton
for s1om Jegor farflaw ot g Jeqor & forw svror oft @ 2
(a) Toregd & o 9o ® gig i m=h 7 |
(b) IR HS ! =TT § gL A ST AT & |

A compass needle is placed near a current carrying straight conductor.
State your observation for the following cases and give reasons for the
same in each case :

(a)  Magnitude of electric current is increased.
(b)  The compass needle is displaced away from the conductor.

5. HCl 3R CH3COOH ¥ ¥ ®M-HI godl 37 @ 3R Fi ? Tohell g i

TR ¥ ST hifoT | 2
YT

“Aifeam g HEMHE Th AT T@U 7 |7 39 %A i g e | 58 o

% die o fora g uftafda feram Siram 2 2 2

Out of HC]1 and CH3COOH, which one is a weak acid and why ? Explain
with the help of an example.

OR
“Sodium hydrogen carbonate is a basic salt.” Justify this statement. How
is it converted into washing soda ?
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SECTION C

6.  ATafwEhl i aftwreT fAfaw | e <t wE § St BT SAIAfehdT % gieeshi
g foan w1 faw #i 7 2 @a § =amen Fif | 3
Define genetics. Why is decrease in the number of surviving tigers a
cause of concern from the point of view of genetics ? Explain briefly.

7. TopHl 31ade UUT 6l BIhH gl 20 cm B | 39 QU § 4 cm e el fore B
fopaft g W v foh IgeRT wldfers gOT § 30 cm g W & | &4 ot whferes

1 g15e ot aftesfara hifST | 3
YT

forelt 3T oie gra fopelt fora o1 o1 @ 12 om 3 W W@ W W 39T fora

TS I 2/3 THT, ATEA(reh STdfesl S9AT 3 | TF %1 Bk g 1A HINT | 3

A concave mirror has a focal length of 20 cm. At what distance from the
mirror should a 4 cm tall object be placed so that it forms an image at a
distance of 30 cm from the mirror ? Also calculate the size of the image
formed.

OR

A real image 2/37d of the size of an object is formed by a convex lens when
the object is at a distance of 12 cm from it. Find the focal length of the
lens.

8.  fortht s daem el ° WX Tothe & 2 g Toreeati w1 i foRaT TR R |
(a) Toregl g1 Seaomi <t T=f ST |
(b) B arelt TERS STl w1 yer fafaw |
(c) Afufspan =1 wgfera TE@Te TR fafaw iR a7 ater 3camel &
W iy | 3
3T

M g e fopem g fop Sfa fopelt = few § i qee (3ot) T R
ST &, A ST % ISST o WdH L I8 W Foret el ugred hl wa o= Sl
21

(a) I8 hreAl verd = o AT 2

(b) I8 hIaTl YT AT R ?
(c) BN arelt srfufskan st qEmfTes aefietor fafey |
(d) Y3 W S 38 e 9 Sl fohg TR rard il foram ST dehar 3§ 2 3
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2 g of ferrous sulphate crystals are heated in a dry boiling tube.
(a)  List any two observations.
(b) Name the type of chemical reaction taking place.
(c) Write balanced chemical equation for the reaction and name the
products formed.
OR
You might have noted that when copper powder is heated in a china dish,
the reddish brown surface of copper powder becomes coated with a black
substance.
(a)  Why has this black substance formed ?
(b)  What is this black substance ?
(c) Write the chemical equation of the reaction that takes place.
(d) How can the black coating on the surface be turned reddish
brown ?

9. IR T@AT fhy Had § ? fohell TIRaT § Sl Y8 THiCRh 1 il 8 ?

qleed ST I | 3
AYAT

(a) TSI I ol b 3MCH (TF) TEI § & Fi T &1 AT, ?
(b) TGl & YH: TRUT hl g1 H 3T J: ITANT Gg i 8 ? 3

What is a food chain ? Why is the flow of energy in an ecosystem
unidirectional ? Explain briefly.
OR

(a)  Why should National Parks be allowed to remain in their pristine
form ?

(b)  Why is reuse of materials better than recycling ?

10. <heh I HIFA I TS 991 & AT Sheh S THI IH Teh Iad T13eX THamn
ST 8 | 39 UISEL % UHE 31a¥dl o AW e qe1 T Ta¥d % B hl
ST I | Tehd hl 7 0 IISST Bl T HH W BH dredt 311 shan =

T gHie fafgu | 3

A white powder is added while baking cakes to make it soft and spongy.
Name its main ingredients. Explain the function of each ingredient.
Write the chemical reaction taking place when the powder is heated
during baking.

31/5/1 P.T.0.

s twyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@BYus

11. 3 IR FUSierl P 3R Q Th-gat o &Iy welt 7, 5w @ gueet P g
vaTied 8 @I 2 | Fusell Q % Rl % st wEife fieadiier § S Yaro
H4T
(a) Ffe pugeh PH g uRafda i s 2
(b)  afe 1 puelerl st wam fesn # wum =mer & i Eh SQ 2
Teh YohUUT H 3T I <hl hR0T Aigd gfee HiT | 3

Two circular coils P and Q are kept close to each other, of which coil P
carries a current. What will you observe in the galvanometer connected
across the coil Q

(a)  if current in the coil P is changed ?

(b)  if both the coils are moved in the same direction with the same
speed ?
Give reason to justify your answer in each case.

12. (a) UTedl H IUMENd & A Golgd Hashl & M fifey | Sl & Fad § S
I Tfd | TohE JhR A9 LT B ?
(b) =TS HIT foh STt 1 o1 § qTgdl <hi Ipoll <l ATATIHATE HH
w1 gt & | 3
(a)  Write two water conducting tissues present in plants. How does
water enter continuously into the root xylem ?

(b)  Explain why plants have low energy needs as compared to
animals.

13. U w0 g T fopet faaea (efadem) # fma &1 watg we dfaeht hifdeR &
dreme (TeET) T 8 el ikt ehifvrent o gHTShTde fR <l 3R &1 &, W
goeh! fomdia foen o =1 gran 2 Tee HifvT | 3
Why does the flow of signals in a synapse from axonal end of one neuron

to dendritic end of another neuron take place but not in the reverse
direction ? Explain.

14. o1 1 Sgdl AN % AT TRUMHT T 3FW@ hIFT | ol hl @UA hl A
A o TR I I A ST | 3
Mention the environmental consequences of the increasing demand for

energy. List four steps you would suggest to reduce the consumption of
energy.
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15. g 3TIEH T BEGIFAIeh 3TF oh |1 ATTRAT Hich el Jagarae Scad hidl
2 | T 3CTEWT Afgd 39 TR W 3% 1 AW fafau | wg omee ¥ 91g @i
Ied i o T fora-ferT =won <hi sTavIeRar Brft 2 3| Uik ® wimafea
arfufshanati o TEmES Tt ot fafau | 3

An ore on treatment with dilute hydrochloric acid produces brisk
effervescence. Name the type of ore with one example. What steps will be
required to obtain metal from the enriched ore ? Also write the chemical
equations for the reactions involved in the process.

| g
SECTION D
16. () W‘qﬁﬁq%&mmﬁ%ﬁsm—eﬁq?ﬁ C4+WWW%3ﬂT:I

B C4- UM ST Hohdl &, T Haadis T4 SHIaT § | $Eeh! ST

F & faw off SR G o agesh i
(i)  Torerq = FaTcre w= A §; a9
(i) 39 AN & Toeh R FaeHH FH w01 Bd 8 |
(b) S (CgHg) T TS g fofan | 5
JrqaT
(a) ‘wHTEEd g i gfeym fafgw |
(b) & ARl 1 FHH MMUGH FF CqHgO B | 3 a1 Afiehi & 919 3R
AT ¥ ffem |
(¢) 39 f=AfARad qfitads fohe Tehr =i
() T e A
(i)  TUATA Sl TUATSH 30 | 5
(a)  State the reason why carbon can neither form C4*+ cations nor

C4- anions, but forms covalent bonds. Also state reasons to explain
why covalent compounds

) are bad conductors of electricity.
(i1))  have low melting and boiling points.
(b)  Write the structural formula of benzene, CgHg.
OR
(a)  Define the term ‘isomer’.
(b)  Two compounds have same molecular formula C3gHgO. Write the
name of these compounds and their structural formula.
(c) How would you bring the following conversions :
1) Ethanol to ethene
(i1)  Propanol to propanoic acid
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17. (a) 5cm a1 His [0/ 20 cm BIHE g0 % fhHl ITA 0 & &I & T
3 o Tread W@l 2 | fare oW 8 g 30 cm B | S ot Wfdfers
1 feufa, whfd iR = A HiT |

(b) S9YF YR % Uy fRw @ difuw den W fem gd,
ifers g o iR gl AHIhd SHIT | 5
(a) A5 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 20 cm. The distance of the object from
the lens is 30 cm. Find the position, nature and size of the image
formed.

(b) Draw a labelled ray diagram showing object distance, image
distance and focal length in the above case.

18. (a) 3MYfeh 7ad AR | Tl & difcash A0 § fohd TR 9fEdH Bid @
()  forelt orrad o SR ot & TR T I W 2
(i)  Torelt TvE (FU) # W & = W T 2
Jcdeh Teh{U1 H 328000 hl HERIAT ¥ SI1Ed] shifve |

(b) I I3 a9 X g 14 # @ g, 1 39 FANES H &g i T
1 B 2 S a1t ik 1 e g fafe |

(c) Torelt T X <l GooM™ H&AT = 35 QT =M sl T&AT = 188 | X I
TTTY] SHHTh 1 8 ? X 1 Soiaei-eh fa=amd faiRau o s&ehl Tieiehan
fraifa i | 5

(a) How does metallic character of elements in Modern Periodic Table
vary on moving from

(1) left to right in a period ?
(ii)  top to bottom in a group ?
Explain with the help of an example in each case.

(b) If an element X is placed in group 14, what will be the nature of
bond in its chloride ? Write the chemical formula of the compound
formed.

(¢) An element X has mass number = 35 and number of
neutrons = 18. What is the atomic number of X ? Write electronic
configuration of X and determine its valency.
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19. = feu mu ufmen #@, g uiwy #, 2 Q gfaUys grir 3w <h T wifeaat

1 AT HINT 5
1Q
1Q 2Q
P, .
2Q
+| N +H o |-
| ! 1]
6V 4V
A B

AYAT

fopelt Sca T 1A 40 W; 220 VB | 39 Sed @l 220 V 3Yfd & Tifvd
T W Fed gRT ol T 9 I FINY | sod w1 gfaay off s i | afe
39 9cd I 25 W; 220 V 3THARh o fohell Soa g gfaeenfua = <, @ 9
3R gl & AT | A1 giad= BT 2 319 3R 1 SR Ffgd gfse FHifor 3
B ol it o i hifs | 5

Compare the power used in 2 Q resistor in each of the following circuits :

1Q

1Q 2Q
VY VWY

OR

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is
connected to a 220 V supply. Also find its resistance. If the given bulb is
replaced by a bulb of rating 25 W; 220 V, will there be any change in the
value of current and resistance ? Justify your answer and determine the
change.

31/5/1 P.T.0.
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20. (a) WAV IR T o o= fawed Hife | fret god o fm=m & v
3R IS T 3IgE HIlNT |
(b) TR 9rT i eid §U SHhEL 1 ARG ITRE ST :
afderm, afde, Tvsm, dTer JHw 5

YT
(a) HHd HIEl o 4 a3 1 ARG Wifkaw R f=falaa i st amifed

(i) I8 YT S 3 39 AT § |
(i) % 9T &l = g ? |

(b)  <ffeh TRl gRT B aTel & SfaTul-SAfa Wt <hl et F413T |

(¢ TS oAt w0 Bl & 2 AHa gr g It i T
31 SR AT | 5

(a)  Distinguish between cross-pollination and self-pollination. Mention
the site and product of fertilization in a flower.
(b)  Draw labelled diagram of a pistil showing the following parts :

Stigma, Style, Ovary, Female germ cell
OR

(a) Draw a diagram of human female reproductive system and label
the parts :

1) which produce an egg.
(i1)  where fertilization takes place.
(b)  List two bacterial diseases which are transmitted sexually.

(¢)  What are contraceptive devices ? Give two reasons for adopting
contraceptive devices in humans.

21. (a) TmAfafgd frm R Sfiai o fowm & wmeA § ymmor yoqa & & ?

Tcdeh hl 380 Higd AT shifvg |
(i)  EHIE I
(i) EHEY (FEgR) o
(iii) fterem

(b)  Sfarent s 1y Faifa s 6t g1 fafert 6 smen Fiflvw | 5

(a) How do the following provide evidences in favour of evolution in
organisms ? Explain with an example for each.

1) Homologous organs
(ii))  Analogous organs
(ii1) Fossils
(b)  Explain two methods to determine the age of fossils.

131/5/1 10
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SECTION E
22. 5 99 B Tothe I § ek o T S 9T 319 1 YT il 2 39 I
& forg sHre T | 2

What would you observe on adding zinc granules to freshly prepared
ferrous sulphate solution ? Give reason for your answer.

23. A folena U o 93 g Tl stra <R Iufeafa w1 wdieror form gepm fomam

Tt B 2 2
YT
UEifeh 3Trat o TUIEHT T MEIIH KA b T TH B hIg YA R & 7
Fr=fafaa geat &1 3§l 2
()  hIeH SEATFES I9H hid & fou vHifes 37 1 fia® I 91 vered
1 9 fafEu |

(i)  srfufshan & fou deg Tamafes arfiemr i |

(i) AT H CO,, T8 1 ql&0r 98 fohd T T ?

How is the presence of an acid tested with a strip of red litmus paper ?
OR

A student is performing an experiment to study the properties of acetic

acid. Answer the following questions :

) Name the substance he must add to acetic acid to produce carbon
dioxide.

(i1))  Give the relevant chemical equation for the reaction.

(iii) How would he test CO9 gas in the laboratory ?

24. His WeTH I B B, B A GH 9 His aqd v, TH TAE
BIH G 20 cm 8, L IGE ToRHT gTeY foira o1 Sfdiforral ST ook 34 g1 ol
B AT 1 H 6 [T F7d 7 | 98 o T gy 3@ wi foe 1 it
TN hieh, TRI-GRI & 39 loaal g forelt 9 W g&1 w1 figor gfafers ymea
AT 3 | 39 QI TR H SE/GU0 IR UG o SfT= I gRAT dy R dy 1 TR
degeq Hutfaa dieor gfafars g
(a) (20 cm, 40 cm) 3 (Fer 3T i)

(b) (20 cm, 40 cm) 3T (3T IR 3I2)
(c) (20 cm, 20 cm) R (I 3N 3een)
(d (20 cm, 40 cm) 3 (Her AR 372

Y9 I & fIT s i | 2
131/5/1
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A teacher gives a convex lens and a concave mirror of focal length of
20 cm each to his student and asks him to find their focal lengths by
obtaining the image of a distant object. The student uses a distant tree as
the object and obtains its sharp image, one by one, on a screen. The
distances d; and dy between the lens/mirror and the screen in the two
cases and the nature of their respective sharp images are likely to be

(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)

(c) (20 cm, 20 cm) and (inverted and inverted)

(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer.

25. 9 fhefiudfier 3T Sieeriex 1 3T &l fohan S w1 8 o« fomraxen § gt
g i feufd oi@ A ¥ ciT 38R & | 59 i S 31 Fioaal 1 TN
fopel W # ot TE1 B, 1 R g < feufa em@ B W et egEr B | uw
3R leedl o 31 & A 1 i Fifve 8 38 35 o 1 ufeheq
YT HEAT AT | 2

NG A I B

HAAT
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fret fiiges & Jatfed 9/ (1) 6 39 Jhogs & 6 | fawarm (V) W
o &1 31eEH S % T § Rt B 4 9@ # gwIiT STER T T
foRarm |
) I8 I faver W g it fdar & fowa & o faf e g 2
(i) S« Yfalegs & 0 W fowerR 25 V 8, 99 398 Jaied o/ 4
IV | 2
T 0-4+
0-31
I(A)
0-24
0-11
1 2 3 4
V (dee) —
The rest position of the needles in a milliammeter and voltmeter, not in
use, are as shown in Figure A. When a student uses these instruments in
his experiment, the readings of the needles are in the positions shown in
Figure B. Determine the correct values of current and voltage the student
should use in his calculations.
‘:,t o 10 :/ mA : 30 "‘ 4t/0 mA
‘jo t 1 :/ v : 3 7@ v
Figure A Figure B
OR
31/5/1 P.T.O.
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In the experiment to study the dependence of current (I) on the potential

difference (V) across a resistor, a student obtained a graph as shown.

1) What does the graph depict about the dependence of current on the

potential difference ?

(i)  Find the current that flows through the resistor when the potential

difference across it is 2:5 V.

T 0-4+

0-3t1
L)
0-24

0-11

1 2 3 4
V (volts) —»
26. “g < & fou ford) oxfi & focteh 1 TEemht g IR e, YA A

froref 3T Aok <1 39T foRam ST B | 39 291 hT ST whe IR o TR
AT § 2 S¥REdT shifvg | 2

In the experiment “To prepare a temporary mount of a leaf peel to show
stomata”, glycerine and safranin are used. When and why are these two

liquids used ? Explain.

27. T % S o YO & FAGIREd | i g < fo7w AmifeRa s gife 2

SSTos, T, qRTEe

HAAT
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forelt BT 9 38T § 3Teifieh T4 g ITell TRt TeIse W Jar foR | 3|
Toremeff gro fepu @ Jeqort w1 3 A W IR M@ Wifww | 38 S A
gfska o1 9 ot faReaw | 2
Draw labelled diagram to show the following parts in an embryo of a pea
seed :
Cotyledon, Plumule, Radical
OR
A student observed a permanent slide showing asexual reproduction in
Hydra. Draw labelled diagram in proper sequence of the observations
that must have been made by the student. Name the process of
reproduction also.
131/5/1
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